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HOMBWORK “Geometry Bséwew Sheet for 6.1 - 6.3

1. Wlnch figure below is NOT a polygon?

II [B] [C]

2. Bxplain why the figure shown does not satisfy the definition of a polygon.

U N T edt cloxd,

3. Explain why the figure shown does not satisfy the definition of a polygon.
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4. The figure shown below

@ is a pentagon [B] is a quadrilateral ~ [C] is a hexagon

5. Identlfy the convex polygon.

O T

6. Which figure below is NOT a convex polygon?

e A
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(D]

[D] is a heptagon

(D]

[D]




7. Name a polygon with 3 sides.

tnang\
8. Which one of the statements below is FALSE?
[A] A circleis NOT a polygon. [B] A pentagon has 5 sides.
@ decagon has 8 angles. [D] A quadrilateral has 4 sides.

9. How many diagonals does a convex pentagon have?

5 B

10. Find the measure of the missing angle.
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11. Find x and y.
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12. Complete the statement about parallelogram ABCD. Then state a definition or theorem as the

reason.
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13. Refer to the figure below.

Given: UVWXis a parallelogram, mLWXV =17°, mZWVX =29°, XW =41, UX =24,
UY=15 ‘ T

‘ I
A.Find m Z£ WvU. Y6° 29
B. Find ¥, 94° + 7
C. Find m Z XUV, \3y® CA
D. Find UW. 30

14. Usec the figure below.
F

J oo 34" H
Given: FGHJis a parallelogram, m £/ JHG = 68°, JH =34, GH=19
A. Findm £ FJH & (RO - (g =
B. Find JF. \9°
C. Find m £ GFJ. (t§°
D. Find FG. 34’

15. Consecutive angles in a parallelogram are always

[A] congruent angles [B] vertical angles

pplementary angles [D] complementary angles

16. Choose the statement that is NOT ALWAYS true.
For any parallelogram

[A] opposite sides are congruent [B] the diagonals bisect each other
@he diagonals are perpendicular [D] opposite angles are congruent




17. If ON =5x—-6, LM =2x+4, NM =x+5, and OL=3y—6, find the values of x and y given that
LMNO is aparallelogram. Syl = A%t Y
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Alx= —=y = — Blx= —3y= ——
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18. Given: ACDF is a parallelogram and FB|| EC S \ oy
Prove: BCEF is a parallelogram J— —
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20. Draw a figure in the coordinate plane and write a two-column coordinate proof. 9 esope N
Given: Quadrilateral ABCD with A(—3, 0), B(4, -3), C’(7 —1), D(-2,2) 49 ] . P
Ruewe: ABCD is a parallelogram ADS Q-0 o . (7K
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21.

Use the distance formula to determine whether ABCD below is a parallelogram.

Jx2-x)2 +ly?-y')®

D B (pra) % (4-4)°

201 075 G

A(—: 5 =5

BA S J(52374(-5-4)°

)..

Ll AD S (5+5)3+(.5+5)2 }Sﬂm&

D03, —5)- - g2 ¢ 522 {64-[8]

LS

-8%4-9%5 981 JF0 - [T 6 33000 |

SR [ENATROE XY p A

"§y 4575 9 R)2J80- THITH B0

[ paranerogran |







CLOSURE QUESTION
Describe how to classify a triangle
with side lengths 6, 9, and 10.
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The triangles below appearto be
right triangles. Tell whether they \
are right triangles, , -~ <277
/
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2. Prove that £FGHis 5 A,
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31. fD PROOF Prove Theorem 5.14, the Hinge Theorem.
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cercises 1-4, complete with
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